[ DMEPDE AFHER ]

<THMEFSAHE H=E>

ZRECABE-AABE - NE1ZEEORH) (M)
ERDESHE ENE1 | ENE2 | ENES | ENE4 | ENES
NEREER Y —EXE (BEH) 793 843 908 961 1,012
H—E R R EAFIGRENE (B £8) 18 18 18 18 18
Bt | g [FHBAREME B | ] ] a
AEER-EEREEHENE (B4 51 51 51 51 51
REIRDAVMEIEME (BEE) 11 11 11 11 11
NERRER Y —ERBLEMERLES 897 947 1,012 1,065 1,116
BE 1,445 1,445 1,445 1,445 1,445
BEE 437 437 437 437 437
AEEAE 2,779 2,829 2,894 2,947 2,998
A%AE(30R) 83,370| 84,870| 86,820 88,410/ 89,940
<ZRENE1FEEOA CTHFICLIEERRIEREARENES —EXB)ZFALEE>
%1 RS (R E300M - FE&0M) A% (30H) 35910 37,410/ 39,360| 40,950 42,480
FE2E M (B E390M - BX #&430M) A%E(30H) 51,510 53,010/ 54,960| 56,550/ 58,080
FEIEED (B E650M - B E430M) A%E(30R) 59,310/ 60,810/ 62,760| 64,350 65,880
FEIEEMEQ (B E1,360M - X E430M) A% (30H) 80,610 82,110/ 84,060| 85650 87,180
X FRICEIEERRHEICIFEATBENEY ERBLSENE T ERENHYET,
X BENEYEXRBEFABEOIILVWRICE TWKSHETY, (BEZFHETESRE)
ZREQCABE-4AATE NE2ZEHEOH)
BEROESH BN 1 | ENeE2 | ENES | ENE4 | ENEES
NEEREER Y —EXE (B 1,586 1,686 1,816 1,922 2,024
H—E R R EAFIGEIENE (B E8) 36 36 36 36 36
g%gg - RENBEEME (BEE) 48 48 48 48 48
HEEER- EEREEHRENE (B4 102 102 102 102 102
REIRDAVMEIEME (BEE) 22 22 22 22 22
NERRER Y —ERBLMELESEH 1,794 1,894 2,024 2,130 2,232
BE 1,445 1,445 1,445 1,445 1,445
EEE 437 437 437 437 437
REE&SE 3,676 3,776 3,906 4,012 4,114
A%E&&Et(308) 110,280 113,280 117,180 120,360| 123,420




ZREABE-4ANTE  NME3FREDA)

ERDESHE ENE1 | ENiE2 | ENES | ENE4 | ENES
NEREER Y —EXE (BEH) 2,379 2,529 2,724 2,883 3,036

) H—E R R EAFIGRENE (B 58) 54 54 54 54 54
Bt | g [FHBAEEME B o @ | n]  »
AEER-EEREEHENE (B4 153 153 153 153 153
REIRDAVMEIEME (BEE) 33 33 33 33 33
NERRER Y —ERBLEMERLES 2,691 2,841 3,036 3,195 3,348

BE 1,445 1,445 1,445 1,445 1,445

BEE 437 437 437 437 437

AEEAE 4,573 4,723 4918 5,077 5,230

A%AE(30R) 137,190 141,690 147,540 152,310 156,900




E= (EXBEE - N#EI1ZR/EOH) (M)
ERDESHE ENE1 | ENE2 | ENES | ENE4 | ENES
NEREER Y —EXE (BEH) 717 763 828 883 932
H—E R R EAFIGRENE (B £8) 18 18 18 18 18
Bt | g [FHBAREME B | ] ] a
AEER-EEREEHENE (B4 51 51 51 51 51
REIRDAVMEIEME (BEE) 11 11 11 11 11
NERRER Y —ERBLEMERLES 821 867 932 987 1,036
BE 1,445 1,445 1,445 1,445 1,445
BEE 1,728 1,728 1,728 1,728 1,728
AEEAE 3,994 4,040 4,105 4,160 4,209
A%AE(30R) 119,820 121,200[ 123,150| 124,800| 126,270
<E=EMNEI1ZEEOH THFICLLIEEERHE BEARENES—EXB)ZMALLEE>
%1 xR (B #300M - B #&550M) A%E(30H) 50,130| 51,510/ 53460 55110 56,580
FE2E M (B E390M - FX #&550/M) A%E(30H) 52,830 54,210/ 56,160 57,810 59,280
FEIRMEO (R E650M - FE#1,370M) A% (30H) 85230 86,610/ 88560 90,210 91,680
FEIEMEQ(RE1,360M - FE#1,370M) %5 (308) 106,530 107,910/ 109,860 111,510 112,980
X FRICEIEERRHEICIFEATBENEY ERBLSENE T ERENHYET,
X BENEYEXRBEFABEOIILVWRICE TWKSHETY, (BEZFHETESRE)
= (R BEE: NME2FIREOAH)
BEROESH BN 1 | ENeE2 | ENES | ENE4 | ENEES
NEEREER Y —EXE (B 1,434 1,526 1,656 1,766 1,864
H—E R R EAFIGEIENE (B E8) 36 36 36 36 36
Bishn| g [EOBAREMS (A 4| 48| 48] 48] 48
HEEER- EEREEHRENE (B4 102 102 102 102 102
REIRDAVMEIEME (BEE) 22 22 22 22 22
NERRER Y —ERBLMELESEH 1,642 1,734 1,864 1974 2,072
BE 1,445 1,445 1,445 1,445 1,445
EEE 1,728 1,728 1,728 1,728 1,728
REE&SE 4,815 4,907 5,037 5,147 5,245
A%E&&Et(308) 144,450| 147,210| 151,110| 154,410| 157,350




= (ERBEE: MEIFNREDAH)

ERDESHE ENE1 | ENiE2 | ENES | ENE4 | ENES
NEREER Y —EXE (BEH) 2,151 2,289 2,484 2,649 2,796

) H—E R R EAFIGRENE (B 58) 54 54 54 54 54
Bt | g [FHBAEEME B o @ | n]  »
AEER-EEREEHENE (B4 153 153 153 153 153
REIRDAVMEIEME (BEE) 33 33 33 33 33
NERRER Y —ERBLEMERLES 2,463 2,601 2,796 2,961 3,108

BE 1,445 1,445 1,445 1,445 1,445

BEE 1,728 1,728 1,728 1,728 1,728

AEEAE 5,636 5,774 5,969 6,134 6,281

A%AE(30R) 169,080 173,220 179,070| 184,020| 188,430




